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Zadatak 3. 

 

vIN

vIN

vOUT

i1

0.7V 1.4V 3.8V 5V

5V

0.2V

86uA

14uA

 
 

Segmenti:  
I) VIN < 0.7V, i1 = 0,vOUT = VCC = 5V, D – OFF, Q – OFF  

II) 0.7V ≤ vIN < 1.4V, i1 = (vIN –VD)/ R1 = 20mSvIN – 14µA, vOUT = VCC = 5V, D – ON, Q – OFF  

III) 1.4V ≤ vIN < 3.8V, i1 = (vIN –VD)/ R1 = 20mSvIN – 14µA, vOUT = VCC - βRC / RB (vIN - VD - VBE) = 5V-2(vIN -

1.4V), D – ON, Q – ONDAR 

IV) 3.8V ≤ vIN < 5V, i1 = (vIN –VD)/ R1 = 20mSvIN – 14µA, vOUT = VCES = 0.2V, D – ON, Q – ONZAS 

 

Zadatak 4. 

Pogledati zadatak 3.19 u zbirci 

 

Zadatak 7. 

vOUT = (R2R4) / (R1R3) v1 + (R1R3 - R1R4 – R2R4)/ (R1R3) v2 

 

Zadatak 8. 

 

a1 a0 b1 b0 Y2 Y1 Y0 

0 0 0 0 0 0 0 

0 0 0 1 0 0 1 

0 0 1 0 0 1 0 

0 0 1 1 0 1 1 

0 1 0 0 1 0 1 

0 1 0 1 0 0 0 



0 1 1 0 0 0 1 

0 1 1 1 0 1 0 

1 0 0 0 1 1 0 

1 0 0 1 1 0 1 

1 0 1 0 0 0 0 

1 0 1 1 0 0 1 

1 1 0 0 1 1 1 

1 1 0 1 1 1 0 

1 1 1 0 1 0 1 

1 1 1 1 0 0 0 

 

 

 

 

 

Zadatak 9. 

Moduo brojanja je 6. 

 


